CONDITION REPORT - ELECTRIC

Manufacturer Model Year Serial Number

HYSTER COMPANY E50XN 2013 A268N10265L

Mast 3 Stage FFL (Triplex) Hours 6336 V

Mast Height Lowered Voltage 36 Volt

Mast Height Raised 189 Attachment Side Shifter

Hydraulic Control Valve 3-Function Directional Control Lever

Capacity Tires Cushion

Mast Condition v Steering Pump Condition v

Mast Comments Steering Pump Comments

Lift Cylinder Condition v Hydraulic Pump Condition v

Lift Cylinder Comments Hydraulic Pump Comments

Tilt Cylinder Condition v Hydraulic Motor Condition v

Tilt Cylinder Comments Hydraulic Motor Comments

Carriage Condition v Control System Condition v

Carriage Comments Control System Comments

Load Backrest Condition v

Load Backrest Comments Drive Motor Condition v

Forks Condition v Drive Motor Comments

Forks Comments Differential Condition v
Differential Comments

Overhead Guard Condition v Drive Tires % Remaining 70

Overhead Guard Comments Drive Tires Condition v
Steer Tires % Remaining 60

Seat Condition v Steer Tires Condition v

Seat Comments Steer Axle Condition v
Steer Axle Comments

General Appearance Condition v Brakes Condition v

General Appearance Comments Brakes Comments

General Comments Battery Present Yes

Battery very weak if not dead Charger Present Yes

Electrical Condition v

Electrical Comments

Inspector Company Name Pape
Inspector Name bemerson

Inspection Date

12/17/2018 2:59:58 PM

(* Legend: v=Checked OK)
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